PreCalc B
6.1B Practice

Convert each degree measure into radians. Leave answers in fractwn\form.
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Convert each radian measure into degrees.
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Find the length of each arc. Round your answers to the nearest tenth. Remember to include the

correct units,
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Find the length of each arc. Round your answers to the nearest tenth.
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Sketch the Graph. Label the reference angle (B). Find the exact value of each trigonometric »
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Label the reference angle (B). Find the exact value of each trigonometric function.

Positive and Nagatiw;e angles with less than 1 rotation....
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